RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, TX-4684

POWERED BYI'!
1l

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2018
international Residential Code (IRC), Sections R301 & R609 and the 2018
international Building Code {IBC}, Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject fo further engineering
analysis. ) '

TABLE OF CONTENTS

SHEET # | DESCRIPTION

1 Typical elevations, design pressures & general notes

Door panel details

Slidelte panel details {lip lite insert glazing)

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Nl jWwiN

Frame anchoring

112.25" MAX. OVERALL

FRAME WIDTH

N‘:\"‘Cﬁ:\:‘:\.\,\‘.
SR g0
Foorri Bty
A
Sy 10
ﬁ!-: O
P : v o
e e ¥ a4
ﬁO'-_ TZ 3
205, 10
1? i, 0l
Qg i 2
zllis‘ * 5375
N eadc™

82 MAX. OVERALL
FRAME HEIGHT {INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT (OUTSWING)

OXo

INSWING

+45.0

-45.0

OXO

OUTSWING

+50.0

-50.0

uj
oy
£ 0
Yo 0 4
Ex o i
S 8z
0 ui Om o
- Z 4
wt —E.'a u
c ) L |
[+] 002 %
v o o
g Sz &
3 489 2
25,m @
0 K
ZOow o
> on" [+ 4
s ONO. =
o g’o‘z .
: o
o b=
¢ R2& &
o &5
=
2
[~
[ e:
E g
3
o
o
o

CERTIFICATE OF REGISTRATION # F-—11852

PRESSURES & GENERAL NOTES

=z
o
w
L
Q
g
<C
£ Ik
—d
e 12l
] ol @
A
< T
SECE
2 °l ¥
o &
o <€
0. o
0l |-
Lt

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

10/23/19|ADD "FusionFrame” OPTION &

1

e
<
o
o
z
6

oaTE: 11/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4684

sHEeT 1 oF 7




RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 2.3

STILE (LVL)

EXTERIOR

A\Y
W
¥/

/4

~— 1.75" —=

0.81"

INTERIOR

STILE (LVL)

1 \ HORIZONTAL CROSS SECTION

1N
\2/

35.78" MAX.
PANEL WIDTH

&P
<

ﬂj
y \_ SEE HARDWARE

TABLE

79.25' MAX. PANEL HEIGHT
X

DOOR PANEL
Masonite
Steel (Wood Edge)

DOOR SKIN: 25 GA. STEEL {0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

0.81"
LOCK BLOCK
(WOOD: 12" LONG)

TRILENNIUM
SERIES 3000 MULTIPOINT
LOCKING SYSTEM

Endura

mlennlum®3000 Series
Multipoint fock (3pt.)

TOP RAIL

(WOOD] ~_ ==

25 GA. STEEL
SIDELITE SKIN

INTERIOR EXTERIOR

FOAM CORE

BOTIOM RAIL
(WOOD COMP.)

/1

0.81"

- 171" ]

/ 2"\ VERTICAL CROSS SECTION

\2/

Lyndon F, Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F-11852

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

DOOR PANEL DETAILS
& GLAZING DETAIL

<
S
R
%m
i P
[72]
(%]
<C
[ o
(@}
S o
o i~
14 <C
0. Q.
L Iz
Y o

UPDATE TO 2018 IBC/IRC CODE

10/23/19|ADD "FusionFrame” OPTION &

1

REVISIONS

an
<
o
o
P
6

oaTE: 11/16/1

scale: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4684

SHEET 2 oF 7

© zo16 R.W. BUILDING DONSULTANTSE IND.



AN L
STILE (LVL) STILE (LVL) ,.,w“:??i ‘;;;llle ¢
Sx GO e, QG 83 2o
EXTERIOR Fo-"12 e BlE2 2 u3
37 1Tie G2 NEs B £
Sw 9t vz ou 9w 9%
P 1T 2 \ o = w
g % AT GEgN|ur 25 8
: G i lo Of c e
| W 103 \Jw 2 =282 G635
~ Ui, 105 N > dge nk
og b B B M
! S & L
. "t . O
INTERIOR - TOP RAIL o 2 ; PR
0.81" : (WOOD) ~_| g 5% Of
] o J .5 n
TN ~ EORIE K
ECTION § @p
\:1?/ HORIZONTAL CROSS SECTIO 05 GA. STEEL % gﬁ
1)
SIDELITE SKIN = : @ L
o 8
2
35.75" MAX. PANEL Nz
#6X1-1/2" N
WIDTH —] GLASS BITE 1/2" 4 ]
] PPH SM$S ~ e
b ”"" DfIOM\:!\l)éTH — T INTERIOR —— 1/2" OVERALL GLASS THK. N g |y Bk
LO. N 2 |2 &2
. q < = =
Q !! 1/8" TEMPERED GLASS I
/ =2 . G)— s
A in ii - [l o 9
710 /// N 5 AR SPACE N 9 S| B3
W - ] 1/8" TEMPERED GLASS @ <
& INTERIOR EXTERIOR
5 5 EXTERIOR STEEL SPACER e e o b
T s : QSO SEALANT -
-4 ANT 3
Z @) 9 #6 % 1-1/2" PPH SMS (38)  LoWTACKSEAL N
. . e (TR (G Suatme pera zlo
< < : =N
= = i 88| |
& 3 - ol 1B
o J L Elo| |»
h / f” oiN =
/ i Bl ¢
// . ﬂﬁ B 8l
/ o L
. Q
Cx—— } : FOAMCORE | ol
al>
11 - . - <
?T?g) = R \~ = S
— o N
: R
2 ODL LITE FRAME { ? N
18
" BOTTOM RAIL _
SIDELITE PANEL 1.38 (WOOD COMP) DATE: 11 /1 i/sv 6
Masonite scale:  N.T.S.
Steel (Wood Edge) @ ODL LITE FRAME - 1.75" — owe. BY:  JK
HP Polypropylene o o Fs
2"\ VERTICAL CROSS SECTION e s
SIDELITE SKIN: 25 GA. STEEL (0.020" MIN. THICKNESS) 3/ X—
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) T

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 3.3

© 2016 R.W. BUILDING CONSULTANTS IND.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium\\C - Drawings\TX-4684.85.87.88.dwg, 4.3

o
@1 @ d
5 @ 5 g2, Eq
>/ Ex 2 U8
AN N
b b h. 1% -: B—_‘ g i b
5 B0 2
/ / / '§ 223 % e
: . 3o 3 382 @
/) /// /// Gl gei e B 2 or Eé
/ ' ’ BACK-TO-BACK JAMBS: o xxinE NS Zon &0
/ | t o0 . O
/ n ! e " "FusionFrame" {1 OR 2-PIECE) et & g : s ¥
FusionFrame 3 23 o
4/ [ AN5) MULLION 2 255 gn
(3 i TN, ~ A PRl
4|7 7 N INTERIOR #I0X2-1/2°PFH |2 § og
o) NE INTERIOR : :
X N 5 WOOD SCREW s @ 5
2 1~ s #8 X 2-1/2" FH COURSE (] | ENDURA WEATHERSTRIP (SEENOTE 2) 3
\ 44‘ H THREAD DRYWALL SCREW ] {QEBD/PE 650) o
/4 (SEENOTE 1) DOOR PANEL  ENDURA WEATHERSTRIP SIDELITE PANEL
\4 (QEBD/PE 650)
/ / /
) 0]
/’// / // /// b \ ; o g -1 S
/ /' / - X . < 8 =25
b & 33 x4
D : q / #10 X 3" PFH 19 T&
~ SIDELITE PANEL #10X 2-1/2' PFH WooD SCREW |- 2
5 (3N N2 4 o #8 X 1" PFH SMS DOORPANEL  pyrpoin WOODSCREW seenoter) (S| [S
o <C
(TYP.) #8 X 3/4" PFH SMS 4 HINGE EXTERIOR & &
/~3 "\ HORIZONTAL CROSS SECTION {4\ HORIZONTAL CROSS SECTION Bl %
\U Outswing shown - Inswing also approved W Outswing shown - Inswing also approve w
<——].5"————— ""'].5"—» 0'88
it O
] \ WOOD 4-3/8" FATBOY 4-3/8" FATBOY 5 &
\ ™~ PINE MULLION PINE MULLION \ rg g .
1 pd
\ . #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD ED;LVC\;,:\EL% SCREW ug-! Y E
@ ) : (SEENOTE 1) ENDURA WEATHERSTRIP 2
N 4 SIDELITE PANEL >
< q N DOOR PANEL (QEBD/PE 650) 7 / / | i
N O / ' ' ek 7 : SE
g <
] 3 7
D = L - 3
2 < SN/ S S e
1 - =) S h ?‘g? S 8
dl " - O
2.5" -~ 25 / S
FATBOY MULLION MULLION SIDELITE PANEL #8X 1 PEH SMS #10X 2-1/2" PFH WOOD SCREW oATE: 11/ Nv i/s 16
"FusionFrame" 172" DOOR PANEL scue: N.TS.
PINE FusionFrame #8 X 2 ]/2 PFH WOOD SCREW MULITPOINT DWG. BY: JK
#8 X 3/4" PFH SMS 4"HINGE EXTERIOR STRIKE PLATE ok LFS
NOTES: DRAWING NO.:
1. Spacing for sidelite screws: 6.5, 38.5" and 69" from head to sill (3 total). /10 HORIZONTAL CROSS SECTION /3\ gggﬁgg;ﬁkgﬁgvﬁg%?sggg#ov od TX—4684
2. Spacing for mullion screws: 6" from each end plus 3 more equally spaced (5 total}. w Outswing shown - Inswing also approved U S

© zo1s R.W, BUILDING CONSULTANTS INC.




R\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 5.3

2X FRAMING uj
2X FRAMING 2X FRAMING (G >=0.42) e d
/ (G >=0.42) (G>=042) _ — | 88 B
T~ — \ E * @ o
SN T | i : ST S B EC
1y B N e L1 G Om 01
S o ~ EXT. SHEATHING {11 o et 25 Bl
EXT. SHEATHING 3 ‘,{\ DRYWALL o EXT. SHEATHING \ J iz N 53 g °2 3=
\ It 5 DRYWALL \ o il e {Hy | PRYWALL 5 B8 88
11 | #10X2-1/2'PFH e WM #10X 2-1/2" PFH | & o8; 8
1l |1 WOOD SCREW ] g P4~ WOOD SCREW ‘ o 3 23% u.
174 Max. [l o i ’ L § gog .o°
SHIMSPACE _ [[l4/1 1/4" MAX. il / i N ) § 562 Bu
pWill L SHIM SPACE ™|~ ‘il _ #10 X 3" PFH £ men =%
b Za Z T o : WOOD SCREW . 2 %
SHE ! ShE 1/4" MAX. P R gg
et =
—) | ‘ SHIM SPACE = 1000 E‘*JD ;
DOOR PANEL \ 1 SIDELITE PANEL ~_ / \ ? DOOR PANEL
\ HEAD: PINE /; N HEAD: "FusionFrame” {1-PIECE) 4]
' #8 X 2-1/2" FH COURSE 2 HEAD: PINE =
ENDURA WEATHERSTRIP 5
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650) 7
(QEBD/PE 650) (SEENOTE 1) = 0
A\ INTERIOR EXTERIOR EXTERIOR INTERIOR 8 |38
EXTERIOR INTERIOR TR . ] | NOTE 5O1c
/ 1"\ VERTICAL CROSS SECTION "2\ VERTICAL CROSS SECTION {3\ VERTICAL CROSS SECTION * Spacing or sidelfe screws: 3 =
W Outswing shown - inswing also approved \y Inswing shown - Outswing also approved W Outswing shown - inswing also approved 6" from each end (2 total). i o B
) O W
[ — >
O (1
& =
g &
1/4' MAX. a
SHIM SPACE ) 1/4'MAX.  #10X 2-1/2" PFH %19
#10X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW 2o
1 1 JAMB: PlNE « 0 1 " 9 Ny
075' == 075" —Tﬂ =075 DRYWALL JAMB: "FusionFrame DRYWALL =N
! ,.....J_ \ / / (1 OR 2-PIECE) / 38| |»
INTERIOR S Sl B
L / : : e / FERE - g SH7
SNAP-ON #8X 2-1/2" FH COURSE \ #8 X 2-1/2" FH COURSE 52 =
CAP THREAD DRYWALL SCREW THREAD DRYWALL SCREW o
N (SEE NOTE 1) (SEE NOTE 1) L2
= Q5
il N\ N ¢
©
(] 2X FRAMING 2X FRAMING ) E
/ % LvL Z (G >=0.42) (G >=0.42) S| |8
ol [V VN 1E
e R O e e oate: 11/16/16
""’[ 1.25" L‘—_’, 1.25"  fe— o 1.95" SCALE: N.T.S.
' SIDELITE PANEL SIDELITE PANEL ows. B JK
JAMB / HEAD JAMB / HEAD JAMB EXT. SHEATHING  EXTERIOR EXT. SHEATHING oK o LFS
PINE i 4\ HORIZONTAL CROSS SECTION /"5 HORIZONTAL CROSS SECTION e s

\5J Outswing shown - Inswing also approved W Outswing shown - Inswing also approved

SHEET 5 oF 7

@ 2016 R.W. BUILDING CONSULTANTS INGC.



W\

ENDURA
EE&E DOOR SWEEP
N (DBK-R)

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

DOOR /’(
PANEL ™~

ENDURA
DOOR SWEEP

/ (DBK-ZAC)

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

ENDURA WEATHERSTRIP

INTERIOR EXTERIOR oy
QQ
" NOTE:
#10 X 2.5" PFH WOOD SCREW OR 1. Spacing for sidelite screws:

1/4" X 2-3/4" ELCO OR fTW CONCRETE SCREW

; _\},’v
£t
"7'{’7‘5’1
\ Q\!

'u\'

wAod
AW
OF Tk
. !
% o
o .'
'.l .'
g .
8
.
Teaser
s
nn""".
e
ener? N
.
e 1ad
ey
.
asets

.
oooo
13 2,

?
((2
+
31
e~
I
Ko

/3" VERTICAL CROSS SECTION

/1 VERTICAL CROSS SECTION /" 2"\ VERTICAL CROSS SECTION .
w Inswing Adjustable Threshold \y Inswing Arficulatfing Threshold SDELTE - _ w Outswing Bump Threshold
\;
PANEL
SIDELITE
PANEL 1 @@@

#8 X 2.5" COURSE THREAD

INTERIOR g

&
%
=,
>
e
.
2
v
e
Z
.
s

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

INSWING ADJUSTABLE THRESHOLD

/4 )\ VERTICAL CROSS SECTION
\U Inswing configuration

b
1

| 456" |
INSWING ADJUSTABLE THRESHOLD

1 LAIL4565

S ——

INSWING ARTICULATING THRESHOLD 7

ZAI4565FN

456" |
INSWING ARTICULATING THRESHOLD

6 IACL4565

ZIACA565FN

i
=
bl 456" |
17} QUISWING THRESHOLD 12) UTSWING THRESHOLD
ZOBL4565 ZOBA4565FN

8

DRYWALL SCREW
(SEE NOTE 1)

EXTERIOR

1 or

#10 X 2.5 PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR TW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

w Oufswing configuration

4.56" !

INSWING ADJUSTABLE THRESHOLD
LAILAA4565

INSWING ARTICULATING THRESHOLD
IACLAA4565

].6"

456" ,!
13 OUTSWING THRESHOLD

IOB4565RDS

! 456" |

INSWING ADJUSTABLE THRESHOLD
ZAIAA4565FN

456" |
INSWING ARTICULATING THRESHOLD

1.8"

IACAA4565FN

4.5¢" !
INSWING ADJUSTABLE THRESHOLD

[3]

ZAI4565RDS

}.—

! 456" |

10 INSWING ARTICULATING THRESHOLD
ZAC4565RDS

4" from each end (2 fotal).

uj

P

PR 0

3o 0 4

Ex o i

5 .8z

Nu Om o

O T

b g

c ;g

[+ o

k] oo §

g LY =

2 Jg©0 0
2>m1
fon

5 on"fg

& oo . F
O xz

o 4] L.

[ Z mn o ©

o 89 .c 4

§ 292«

& mmmg

2 §

[

[ e:

E g

3

(4]

o

a

CERTIFICATE OF REGISTRATION # F—11852

%3]
=
o8
< =43
> =l =00
S |2 Ey
ol & =0
A
< Q
= o
O
3 S
5} &
® <
0. o
14 I D
L
W
Q
S
gl
O
8|
£l
ol@l |n
R =
Pl 1O
]| 2
clol @
S|
S|
Lo
NS
Q
al=
<
o
Dl e
Q <
AN ta)
R[]
z
DaTE: 11/16/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX-4684

SHEET 6 oF 7

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 6.3

© 2016 R.W. BUILDING CONSULTANTS ING.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD{ - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 7.3

., HEAD ANCHORS: OSSR R 'ii i
3 2 %;‘fg?ﬁg;g #10 X 2-1/2" WOOD SCREW (PINE JAMB) JAMB ANCHORS: St unhy o | wdes -
oo #10 X 3" WOOD SCREW (1-PIECE JAMB) ¢ #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) fq‘f’ B g B2 0§ U8
20 " 2" #10 X 3" WOOD SCREW (1-PIECE JAMB) x5 iz ey B ET
§ O n — (TYP.) pogiip A S N z” =z}
[a] . $ K . |1 "
me) [“ & g Mios s 8 e
| g ™ mve) | - »_i 80 Vizl 53 2 83 %%
T - T T 4T 1 T THT 1 1 ] 9 iQ 5 5358 gt
SEE HINGE . — . I 1"1 by, t2Z 2> i‘dé
T~ T ~ 121&4‘—\(?5 30 o
DETAIL 1 NG T * DETAIL 1 ~ My e & o E8
o DETAIL 1 & o j— 3 28%n
% o~ 3 ? o § 1] e ¢ ‘6
& . 8 5958 f
o & £ Bad g%
1 | ; =
. P £ wE
o} N ] &
3 : LR
P N % (u —*i 3 #8X21/2'PFHWS | §
s ) N > L] /
SEE HINGE SEE STRIKE o ; o Hl* <
. WS ® ] "
DETAIL 2 PLATEDETAL ||| S #8X 1" PFH é\. Hlo S #8 X374 PH W
- TYP. { ~— 4" X 4" HINGE L
NS (P a A\ =
B L S \ < o)
&8 DETAIL 1 * DETALL 1 A
\ / \\, /_ 4 HINGE DETAIL 1 S =
B ] =
I | LI L Lt | * I 7
< 2
R .. LL
I o) L SILL ANCHORS: YT soxzuzenins |5 |3
4 T #10 X 2-1/2" PFH WOOD SCREW = 3 —
s L 1/4" X 2-3/4'ELCO OR STRIKE JAMB :. le o) 2 %
FLOOR SUBSTRATE MATERIA FRAME ANCHORING [TW CONCRETE SCREW SINIRE JAMD " 4 Al el .
HINGE JAMB CONCRETE (MIN. 3000 PS) oX6 HOXTPRHWS <2, Dl == #8 X 3/4" PFH W ol [
WOOD (G >=0.42) " 4" X 4" HINGE =
\ &
\ o 8
% ] .
NOTE: These anchors are required for D.P. > 45 PSF. HINGE DETAIL 2 5 %
JAMB NOTES: 59l |,
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. Y ; %
THE FusionFrame” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. § Sl oo
2Ny s
INTEGRAL MULLION NOTES: = o o
THE FATBOY PINE MULLION, "Fusionframe” MULLION, OR THE "FusionFrame" BACK-TO-BACK X "
JAMB {1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. LE g
CONCRETE ANCHOR NOTES: - : : 8 5
1. Concrete anchor locations at the comers may be adjusted to maintain the min. =
edge distance to mortar joints. NEN
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 3 5 Y
maintain the min. edge distance to mortar joints, additional concrete anchors . S =
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. #8X 2{% QE/EDOURSE . B S
3. Concrete anchor table: #10X 2-1/2"FHWS o 1=
DRYWALL SCREW S ! 42~ \uLTroT owte 11/16,/16
& BN STRIKE PLATE .
I DEALL STRIKE PLATE DETAIL o Ldffs
" " n ] H CHK. BY:
TAPCON® 1/ 1-3/ 1-1/ 4 Integral mullion attachment TR
ELCO TX—4684
e 1/4" 1-3/4" 1" 4
uLTRACON®| 1/ / —

© zo1e R.W. BUILDING CONSULTANTS INC.



